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QUESTION 1
When customizing a Codetable (CTX) file in Cdram, which of the following statements are true?

A. To add a new entry to a code table, create a new CTX file in the custom directory with the same name as the existing
CTX and add the new entry

B. To change an entry in a code table, copy the existing file to the appropriate custom directory, append custom_ to the
code name, and insert the new code value

C. To remove an entry from a code table, copy the existing file to the appropriate custom directory and remove the entry
in question

D. To change an entry in a code table, create a new CTX file in the custom directory with the same name as the existing
CTX, copy the code table item from the existing CTX, and make any required changes to the copy

E. Custom codes are appended to the end of the corresponding, existing code table

Correct Answer: AD

QUESTION 2

Review the Screenshot presented.

o ciRAM p caro@

+  Administrator

Miﬂway Sodial Welfare ﬁganizaﬁnn X
Midway Social Welfare Organization

Mame Midway Sodal Welfare Organizat
Phone Mumber
Tax Mumber 1234567330

Desgription Sodal Welfare Organization

Mew User...

MNew Announcement. .

My Organization

Announcements Structures Calendar Jobs

Home

MName Midway Sodal Welfare Organization %'
Tax Number 1234567390

Registration Mumber 12345638730

Descripbion

My Organisation's desc &'
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What type of application navigation element can be expected to correspond with the element highlighted by the red
box?

A. Selection

B. Menu

C. Tab

D. Navigation
E. Shortcut-Tab

Correct Answer: B

QUESTION 3

The Curam page shown here is configured to allow the developer to identify which action control was selected when the
user clicks either button.

Yes Nn

Which of the following pieces of UIM could be used to do this?
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<?xml wersion="1.0" encoding="UTF-8"72>

<PAGE PAGE ID="DersonDemo agres"
xmlns:xsi="http: Awvww. wi. opg 2001 A XMLE chema—-1instance”
¥31:noMamespacedchemalocation="Ff1le: //Curam/ TIMS chema. xsd™>

<PAGE TITLE>
< CONNECT>
<30URCE NAME="TEXT'" PROFERTY="PageTitle.StaticText" >
</ CONNECT>
<HPAGE_TITLE>

<SERVER INTERFALCE OPERATION="checkdgreement" CLASS="MaintzinPerson"
NAME="CheckAgreementBean"” PHASE="ACTION™ ACTION ID PROPERTV="selection"/>

<CLUSTER TITLE="Cluster.Title.Agreement ">
CACTICN SET TOP="false” LLIGNMENT="CENTER'">
CACTION CONTROL LABEL="ActionControl.Label.Yes"
TYPE="SUBMIT" RCTICN ID="selection"/»
SACTION CONTROL LABEL="ActionControl.Label.No"
TYFE="SUBMIT" ARCTICN ID="selection"/»
CACTION CONTROL LABEL="ActionControl.Label.No"
TYPE="SUBMIT" ACTION ID="selection"/»
</ACTION JET>
</ CLUSTER>

</PLGE>
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B
L3xml wersion="i1.0" encoding="UTrF-8"7>
<PAGE PAGE ID="PersonDemo agres”
xmlns:xsi="kttp: Awww. wi. orgd 2001 /XML chema—1instance™
¥Zi:noNamespacedchemalocation="file: / Curam/ TIMS chema. xad -
<PAGE TITLE>
<CONMNECT:=
<30URCE NAME="TEXT'™ FPROFERTY="FageTitle.StaticText"/ >
</ CONNECT >
<fPAGE_TITLE>
<3SERVER INTERFACE OPERATION="checkAgreement" CLAZ3="MaintainPerson"
NAME="CheckAgreamentBean" PHAZE="ACTION™ ACTION_ID_PROPERTY="selection"f>
SCLUSTER TITLE="Cluster.Title.Agreement™
<ACTION SET TOP="false"™ ALIGNMENT="CENTER™:
<ACTION CONTROL LABEL="ActionControl.Label.¥es"
TYPE="SUBMIT"™ ACTION_ID="&gree"f>
<ACTION CONTROL LABEL="ActionControl.Label.No"
TYPE="SUBMIT™ ACTION_ID="disagree"f>
{fACTION_SET>
</ CLUSTER>
</ PLGE>
oo

<2?xml version="1.0" encoding="UTF-8"7>

<PAGE PAGE TD="DersonDemo agree"
mmlns:xsi="kttp: Awww. Wi, org/ 2001 /A XML S chema-1instance™
¥gi:noNamespaceichemalocation="file:  / Curam TIMSchema. xs5d">

<PAGE TITLE>
CCONNECT=
CFOURCE NAMNE="TEXT™ FPROFERTY="PageTitle.StaticText" />
</ CONNECT>
<HPAGE_TITLE>

<SERVER INTERFACE OPERATICN="checkAgreament" CLASS="MaintainPerson'
NAME="CheckAgreacmentBean™ PHASE="ACTION" />

CCLUTSTER TITLE="Cluster.Title.Agreement':
<ACTION 3ET TOP="f&lse" ALIGNMENT="CENTER">
SACTION CONTROL LABEL="ActionControl.Label.Yes"
TYPE="SUBMIT" LCTICN ID="agree"/:>
SACTION CONTROL LABEL="Actionlontrol.Label.No"
TYPE="SUBMIT" ACTICN ID="disagree"/>
</ ACTION ZET>
</ CLUSTER>

</ PAGE>
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<?xml wersion="1.0" encoding="UTF-8"2>

<PAGE PAGE ID="Personlemo agres"
xmilnsixwsi="hittp: Suvww. w3l opg/ 2001 AMLE chema—-ins tance™
xzirnolNamespaceSchemalocation="file:  / Curamn/TIMS chema. xad">

<PAGE TITLE>
CCONNECT=
<SOURCE NAME="TEXT" PROPERTY="PageTitle.StaticText™ >
</ CONNECT>
</PAGE TITLE>

<SERVER INTERFACE OPERATICN="checkAgreement" CLLSS="MzintainPerson"
NANE="CheckAgreementBean" PHASE="ACTION" ACTION_ID_PRDPERTY="Yes"f}
<3ERVER TWTERFACE QFERATION="checkAgreement" CLASS="MaintainPerson™
NAME="CkeckAgreamentBean" PHAZE="ACTION"™ ACTICH IL PROFPERTY="No'"/:

CCLUSTER TITLE="Cluster.Title.Agreement":
<ACTICN SET TOP="false" ALIGNMENT="CENTER">
<RCTICON CONTEOL LABEL="ActionControl.Label.¥es"
TYPE="SUBMIT" ACTION ID="agres"/>
<ACTION COMNTROL LABEL="ActionControl.Label.No"
TYPE="SUBMIT" ACTICN ID="diszgres" />
</ACTION SET=
</ CLUSTER>

</PLGE>

Correct Answer: B

QUESTION

4

Suppose that a new Process class has been created in a model and a build generated command is performed. What

needs to be

done next?

A. Implement the methods in the generated impl version of the class.

B. Copy the

generated impl class from the build/svr/gen/temp folder into the impl package.

C. Create a new class in the impl package.
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D. Implement the modeled methods in the base class.

Correct Answer: C

QUESTION 5

Which of the following statements about handcrafted service layer classes is true?

A. Google Guice dispatches events to listeners

B. The Persistence Infrastructure (PI) Adapter is used to translate high-level data requests to entity operations
C. The Entity Interface provides search (read-multi) operations

D. Entity classes are not modeled, as they are provided by the Entity Interface

Correct Answer: B
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